/7.

r_h.':f'f*"-:'i “ H][i-::rl—-{ FTH=" h;_iir«”-fdd q
2 R T f-":T T am ks fepan A aqr 7
(A) I,I T (B) . f‘_ﬁmq:—'{ A
(C) HEmp (D) IRIT :ntal
'|"|“{|b_\-i :.I”L_r_t!c[\.l_'iﬂ]i. £

largest 2
cunvergence program “Operation I"l'\.:lfdi;:l'
Was launched by the Government ¢
which of the J!th'v-\'r'n,-.: states

(A) Gujarat

(B) Himachal Pradesh
(C) Maharashtra
(D) Uttar Pradesh

78. 3T New gferd #l ez w2 7
(A) Har, J1ET, T
(B) HerHd w4

#al, JuET, wify

(C)

(D) G ATIHI, Heped BN

What is the tagline of Uttar Pradesh

Police ?

(A) Seva, Veerta, Bandhuta

(B) Satyamev Jayate

(C) Seva, Suraksha, Shanti

(D) Suraksha Aapki, Sankalp Hamara
79. mﬁmﬁﬁmmmﬂﬁm

5% 3 Freafefi 4 o et i 4T 2 7

(A) FHfam (B) - Tl

(C) =He (D) 9

Aryabhatta Research Institite  of

Observational Sciences is located in
which of the following districts of
Uttarakhand state ?

(A) Nainital (B) Almora

(C) Chamoli (D) Champawat

80. G0+ yiwgwyE 7
(A) Tezd
(B) 79 3175 z4A
(C) = 31 754

1 3% I T
() 3R 3% B mioad 17 & 18 e Al Exam g

What is the fy] form of G20 9
(A) Grand Twenty

(B) Group of Twenty

(C) Glory of Twenty
(D) Gatheri ngof T

Ve -

enty

LT

VIAPSE DA TR s e

DH-1

77. Md ¥ TEd TET #m_fr;n,n:f.'u wTEM gy,

Frofefiaa 4 3 fan T 0

™4 7
(A) wHrefad
(C) F=HE . ‘Dj %
The Grand Canyon | s -
States of America nh

which of the follow;jn™ ca"‘fedc ”“lled
(A) Columbia
(C) Yukon

The idea of a nationwide GST :

was first proposed by Whichm l"dia
following 7 f the
(A) Basel Committee

(B) The Kelkar Tag) Force

(C) Rekhi Cﬂmmittee

(D) C. Rangarajan Committee

wrE 1 Frefefen § § g o TR
NS % AT P ey g T
(A) M (B) =mm ;
(C) w=eg (D) Tum

Which of the following nejghboyrins
countries of India does not gaharem I||
boundaries with India ? '

(A) Bhutan (B) Myanmar
(C) Maldives :

(B) wrédts
©) = (D)
Tokyfr” 's the capital of which of f
following Countries of Asia ? |
(A) Japan (B) Thailand
(©) Ba (D) China

- *ia "-A.n.‘,-»-vr.
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o

A

o 1 AT @A 7
=

\) 1 e AT

(Ch - , || e gl (B) fa, o

z " 3 ALE A) 1 if

Yaya Ty, ). T arersty: [ Al (D) Frwag

. 4 :,.|.|-_|- . ) . : B

||F:.r'i e Sie ' 4 in yhich o ¢ i of | e ‘”“““""HL'-

the f11 2 . 1 [ ) SO 3 =

ne foll Wine BHS) ._,|||..-' ndid y \\h' c]\.Cﬂ‘*"‘" and Visionary H.‘“.:

(A) 1 I.-tr_‘; }-,. oec/UTs 01 1 com g ns 10 emMpower Women fr;; :a e
(B)  Himau f"' (hot * y and self-reliance in the \;‘m\;l}]
{ =Hal PrgAdact ¥, J ¥ Slate 8
C) Jammy g o . secV adesh ? ¢ of
; o} s e ' .

D) Ladaky ashm puar ission Sunita

101, 397 wer - _ (A) ’.ﬁssion Shakti
e ke g e 1106 = '}‘TW B) N 2 I
U O o= -IT"Tﬂ f ghett &FT’FT { Miss,on Vamini
(350 Hamgs 1; TS ® fepcid G T# (€) \fission Vanita
N 196 I et ] b 111 G M1
SREC TSt IR L (D)
(A) p— gﬂ;ﬁﬂwmmﬂﬁﬁ'hﬂ
(C) =m A 105, I AR 7 :
s Q | . L : 8 |
T'he Slate government shall Elm-\nm‘. how Uﬂﬁ ‘
e (B) T

many “C v isté
Ny “Collector” ( not inc‘.pd"t‘.ﬂ 'd:i::'?‘hlm
O 141 1 RS
Iar.,f*_':idl.tmnui collectors) as per [he
radesh Revenue Code, 20006 7

(A) Three

Uttar

S . (BY Omne
(€) Four (D) Two \
102. 99 # so@ER 3= SS90 e

At present what is the sanctioned
strength of Judges of the High Court of
Judicature at Allahabad ?

(A) 160 (B) 180 106.

(C) 150 (D) 170 ’
03. ‘a*nﬁ%iraﬁﬂ?aa@ﬁmjmﬁ |

mq@ﬂa‘rﬁﬂfﬁﬁﬂw =Y 7

(A) sft Frfl ey

(B) # Tiifag Fewm

(C) o Uq_&ﬁ d El_ £

(D) off e 9

Who among the following was the first

ister of the State of Uttar Pradesh
depcndence of India ?
ogl Adityanath

Chief Min
after the In
(A) Shri Y

sk (B) Shri Gobind Bauabh Pant
r}‘ (C) Shri N.D. Tiwlan
(D) ghri Kalya! Singh

19

[_.»\] :
(C)

(D) fEEn

ste border of Uttar Pradesh does

E: wouch 1o the border of Which of the
following gtates 7

(A) Uttarakhand (B) Telangana
(C) Haryana (D) Bihar

ot 9T ol TR Felt A SRR
frofafaa & B Tor vda EE o w1
(A) Fafit gEen
(B) dfeTenie 91'@?“
(C) faen symem
(D) HEATETE A
The highest peak in southem India i
Anamudi that is situated in which of the
foliowing mountain ranges ?
(A) Nilgiri Range
”3:]' Velikonda Range
“LJ Vindhya Range
D) Balaghat Range


https://telegram.me/sarkariresultinfoin










19, DBMS - SMBD) - . JAVA : (%)
[,‘.'l} A V:‘\J (B) a'{\l\\
(€) AAV]) (D) JAA

20. B9 angfy i faery qrf & 7 i
How many Squares are there
following figure ?

3 ]
=

AR Il BT ) ) 13
(A) 14 (B) 12 () 16 (P)

treﬁwf%#rmﬁ%w??ﬁ ‘f%ﬁ;’—ﬂf
T ) 37 ey 2 Fwa’ﬂ?’ﬁmﬁ!
mﬁawg,mwﬁw:?f%‘
bt wrerar 2, T @t g @ 31 ot
Wméaﬂ?mﬂmﬁfggm_%’_WJ
1 R | 9% MRy 373 gy @ foeef g W

g7
(A) 14 et (B) 10fF
© 1R ) e

A person starts from home and moves
towards west b 10 km, then turns right
and moves by km, again turns right and
Moves b}’ 14 km, then turns left and
moves by 4 km and at last turns left and

Moves by 4 km. How far the person is
ion ?

(A) 14 km B) 10km
(C) 17 km ((Dg 11 km

|

25. 14 fag mo vy i U5 oy -

I, 11, 111 3 1y Fllifigy Iy
ATIH! T8 47 wo Brmy g;n T :?_Ifqﬁ

.q.H‘T—r' a7 R/E 3ty Ty w2 ey

T 2/ 3t AT NS B ¥

fErameai o & wmaﬁ-(;;:q * fan ;
Hl

Iv. r—ﬁ;mm
(A) %ﬁfllm@g,
(B) %ﬂraﬂmwgl
(©) a‘rarmvrmq@g,
(D) %manaﬂtmqﬁqa’éa

Question gjyen below Consists
statement, followed by four e
numbered |, IL, 111 1 o ets

choose your answer from the
given below th ion :
Statement *  Should
educational
than the Optimum
debarred from seeki
Arguments g

HI No 'I'hl‘s. v s
;ghts of the indivigua}s, the ba



8 | afe @ A e
wfér 100 m? % HIER T
The base of triangul;

its altitude. If the co

=%
foera fomt & qu @ wmem 7
Diptesh and Tushar worki?
can do a piece of work in 7 "¢
~ respectively. If they WP"".




s p-_*'mﬁ -55,,
10. 3w 2004

2004 W T 240 w08 3 ad |15
‘m’m il 4'““‘ # fiverrast wet faata 2 500 |
10"‘3 o g e a1 ?
(B) ®200%0% |
S I
f th WlE (D) 7250
?\( II'Id tl‘hl:“p“n" in 2004 were T 240 crores
N and totg) ¢Xports in the years 2004 |

.
<005
Ihgnth.} together were ¥ 500 crores, ‘\

(A) ¢ 4““1"(\;1,\ in 2005 were
B ‘ Crores (B) ¥ 200 crores

()
T as( ) Crores (D) ¥ 250 crores

1.
mwﬁﬁ%ﬂiaﬂnfmd w6,

In
c\h:“ many of the g;\Ln vears were the
b P rts more thu“.‘l the H'i'l'E"\"TV‘ ?

W3 ®1 s ©2
id 12. AR 2002 ¥ Hoft 57 3y € 260 FI
T, A 2002 F waefy w5y Frata o
J’ If the imports of the company in 2002 \
|

were ¥ 260 crores, the exports from the
company in 2002 were

(A) T 310%US / T 310 crores

P (B) X 360 %S / T 360 crores
‘ (C) T 275%US [ T 275 crores
(D) T 325 FUS / T 325 crores

13. 2003/ 2004wmﬁ%ﬁiuﬁma£:

vk e gl ?

What was the percentage increase in
imports from 2003 to 2004 ?

17.

\

(A) 82
(B) 56 1
(C) 2 3794Ted &/Data inadequate
(D) 67 e
St 4 T
ce ?ﬁwﬁﬁaﬁ;ﬂﬂiﬂ T & FA 2
e, wfeEl, 3 18.

diagram which best
among given items :
les _potatoes.

w ©9

Choose the Venn
explains relationship
Aﬂimalsa Ve

F lr‘ﬂ »-I:"* ﬂ 'IT¢,

'|{l ‘ \.1L'

¢ v [
ReT™ g o R 3R am
Lt J%; -4 ZiFe ain aﬁﬁﬁﬁ%

Cire! ymber
the _"_rﬁ who are Literate ?

?wm%m T

B.T‘a.r..,) & ®m ©@ ¢

~, Tt T foan o §

= H.-,{IT 1 '1 h-‘"d
Tt % | 9% TeE WA

-}’(' 4 % "
Wi WINE question .

wed by four ‘wrm.; word iy
ot be formed Using v

- word. Find tha Word
1 v‘“ '}.IJA ller

ITOR —(B)  MEDjcy
lMW)\. (D) Ml:l)wn:

_fa H, afe e 2w =

j':ur

mm

i:h;;m
q '-I' a1 21

en figure, if Triangle
gquare represents Lawyer
Prgsmls Literate, lhcn what is
of those Doctors a4

(C) 8 (D) §

2! ol @m%s ‘~'.-’$!31€|‘lﬂ“t"x

(B) 3

18+6+7x5-2=2

1£ 4 mmldb for division, ‘=’ stands for
multiplication, “x’ stands for subtraction
and ‘=’ stands for addition, then
18+6+7x5=2= 2

(A)20 (B)16 (C)22 (D) 18

o frd B @ 4 i (X) A
i Bl 5 |
Choose the correct mirror image of the

g{:;e; a?l%ure (X) from amongst the four
=
o (oIl loVle?

0 Ty )R
(D) _G) -

BN P e s LA



nated or retin ng

g after

A 5 10 years’ SeTvice
ar e Feumpon : gets both G and PF, 'r‘ul that resigning
zly T ke Protiig during this peri ‘d gets either G or PF.

: Y Y TE) mp : ¢¢ terminated or retiring
years: service gets PF but pot G;
resigning during this period gets

G nor PF.
ase lies after 2 years'
IViC both G and PF.
: : yee was on leave
the m 1s deducted
ervice and then
I!: - -3 Are \:r‘!gi;;d.

& Omy e - @ lady employee, if she has
: :; < years’ seryice. two years are

o Dlyine ., NET actual service  before

:
-, & e ab

“OnSider.. OVE rules, as a special

3

20 of h Ve rules to the cases described in
= ST the . OWING questions and decide
: i ' FioYee is eligible for G andlor

N,
'
v

T s o

DH-1



27, fafte @ &t 3 ot ad @ r‘mf-T-‘{‘fg:?: 30.
" 1, ¥4 AN 3wy fan amA & haigily
# gt o 3wy o 3# aw @
faan may | _
(A) 3R G pF & @ wf @ &0 A
qawEar R |
(B) #f& %wer G &) o gaed! #‘_' oy
«C) AR G 3k pr Zrt fyg 91 P
(D) AR Fqes pp fouqy o w0 2 | .
Mihir has been crnp!n}'t"'»l b)./ . hc
company for five years, during witicih e
took a one-year l;.‘i.‘lvt.‘ without .pi])‘ and
was SUhSL‘qucmly terminated from the
service.
(A) ifeither G or PF can be given.
(B] ITU[]')«' G can be gl-\’t'ﬂ- ,
(C) ifboth G and PF can be given-
(D) ifonly PF can pe given.

ot 3T Bl I/ T qrg gar & TEW B
fear a1
(A) qﬁ(}gmppﬁgﬁ@ﬁmm

ghdl s |
(B) WRITIGHaadid! _
(Cy 3G 3R PF g o e & |
(D) 3 %3 PF fear sy g1 2 |
Mr. Ashok was terminated from service
after ten years.
(A) ifeither G or PF can be given.
(B) ifonly G can pe given.
(C) ifboth G and PF can be given.
(D) ifonly PF can be given.

29. Mﬁ#ﬁ?ﬂ’:ﬁﬁmaﬁﬁﬁmm
1 3 i 2 ey |
(4) 3 G a1 PF § & 3% o5 oy o
CiREk:CoiE

FHA12 |
(C) 3R G 3k pp

(B) 32 ¥

mmﬁwﬁm“m
xmffaz.zamtyzﬂ
Fafw AAEN o i

|
B

0 Py
* A
W

(C) H&Gﬂt?l’igﬂﬁzmmt
(D) uﬁmwﬁm‘"“ﬂtt. !

Mrs. Deval WOTked at the s
three years. However, during 3?""

for
that time, she wag o ° Yearg o
Eventually, she wag UNpaig leay,

job. S from ﬂ:
(A) ifeither G or pp ca"begivm

(B) ffOl’lly G can be g:iven,

(C) ifboth G and PF can be giy
(D) if only PF can pe gi%n‘. en.

(A) ‘lﬁ“ﬂ(}ﬁmmﬁﬁ‘&dﬁw
DL

fen s awar g |
(B) Hﬁ%ﬁaeﬁ:ﬂmz] |
© 3% G a1 pr 3 ﬁ

qhar g | ey

el Years aﬂd:ev ntuz
to a prolozgged-;_ illn T
]yeaI'S, during v l " l*" -& L




*,.qﬂhl‘ll'l M,
L
et W

ey il )
are lice officer;
social m Statfoned as o po

edin monitoring reveals pians for

Unauthorized jly  violating

: orders, You ghould:
A)  Request IﬂmPut::r:r suspension of

internet
(B) “et ;en- lﬁi:n for subversive
social media posts, |
(© loy fomunmly deny entry

OIS,
g’ organizers to explain order
restrictions.

hx
i

5

A8
'







o ST,

43, TR '{ﬁ‘-‘m ﬂ&mﬂ & ®Y H, Al o ngFﬁ

'ﬁLT'HI ac-ﬁ‘ Hl{?,f-," 4, ary =9¢ ”I”ﬂ”ﬁ | Aqreh

% & o HatEe wh #fd jﬂ(‘-;'j 3 3;'|"T"£1
aareH Sfwanai & wae :" ﬁ

aeehTel wfafera w1 < rf{‘ﬂ,[, o AT

(A) BF® sEmaa B
o e Tl

i =t |
0 & fere

a2 -7t &h Hl
(B) fara Rt A7
T g | =
/T 1y "3'@‘.
(C) ®rdafa® AP i Y ;
girerer Hifean #1 9- e e
=21 HTITAFTEAA ol
st 37 H1 il ',, wanie call
g e iﬂfwl an armed
from a bank manager 'f[':.,-[;u*t‘?i- As
robbery in progress with [ ’-"qr- which of
standard operating P"Wih{'::}espt*””'ﬁ'?
these should be your immedia 1 e
(A) Set-up ["Ci‘me’TCf chec pe

(D)

isolate the area 7 Ml
(B) Rush to the crime S¢€N directly 47,
without back-up ) bl
(C) Use social media to gather public
information :
(D) Inform and coordinate with other
emergency services
U gferm At % wv 4, AR
FNTe 3 7 g F fon FE-THY
TSI it T & T e 2 |
THICTET & 37 e 7 70 71 2 7 |48,
TRt 9fera &ar % il & gfireroy
S5 #3127
(A) T g e s
(B) WB’FH‘Z{ HAbTe)
(D) 13 2 syepreny

AS a police officer, yo
. . ! u I
tl:)m::f:ﬁ:ngemdw trair:)liin aare f:&:[lred. o
. € your skills Jation
[}]th_ch of the following ,-';d knnw]ﬂdge-
: :é'éﬁ-i.’ﬁ"ii"?- that provige - 1ame of
1 Police Seryi i
(A) gﬂﬂonal Secur; 0 Ofﬁ%? A
ational Police A Acag
. c e
National Fopen:: sfe Y

(D) Nationg] D Clice
ef A
- e
10"

(C)
~20 ) 10

p el
7 km, then turns left ang Move. ction
again turns left anqd mwe:esb ;,y 4k:13:
again turns eft and moves by 4 9 km
far the person is from initiaj POsitic. 10W
B) 1 2 kY

(A) 13km
(€108 D) 11kn

AT (7) % T R 32

gferes : L : : A1feyep . @ &r‘ﬁﬁ

(A) HHAAEAT (B) uTH

Dpedsly] (D)

Find suitable alternative in place ;
0

%uestion mark (?),
raveller : Joumey : «+ Sailor - )

G |

éé; gﬁ?ﬁge b é’{g}t}er

TR S 3 355 a1 o
fgﬂlﬁff{ﬁgq;; | 37§
mﬁﬁﬁﬁwgz}mmﬁmn

the col-rect a' . .
ohat will complee the sepieq £
( A} 124,42 90, (?)

0 (B) 180



£ 3
@ 2 |

|

wds are
features
pired to

E—Q fifth letter of the newly

“LINGUIST”

T F"‘I

i : are chang®
FT‘I"lmCduuci_\- preceding le°
nglish alphabet series znd

seventh letters are cha

immediately succeedin
English alphabet series, t
letters are there between the B

E (according to English alphabet € ies)

51, e s e o | e, T 2

A T TN

(A) 8 (B) 6
(C) 9 (D)

g|ﬁmmﬁﬁq?"'

Wiﬁ'gl!lm‘}miﬁ"ia'%-?:-:w:: a2 oy
form W Fafaa R 7 e T o L1t
(A) g 24, -.-..-.:-'.‘- n-'.—:':-:':'-a'j‘.".-" 3.--’:‘:3 w’ -i-d--
Clg '. ﬂ?ﬁ’“?‘m?ﬁz‘mn—r
) fruif@ 7#1 fopan = A | %. :

E [ 4 | J

qrs -

(D) . . |= Which Qf '.':‘.C :-01,10‘.1."1_"1_% dgagams bcst
Rahul and Robin aré brothers. Pramc_;d is | e e e
Robin’s father. Sheela is Pramod’s sister. \ S »j- the relation between Farth
Prema s Pramod’s niece. Shubha is un -
prema’s daughter. How is Rahul related
to Shubha ? A) e
(A) Maternal Unclé 1 O

(B) Brother : '
© cuthedsemt °©@ » 5o

(D Cousm'_".,_.--.-m-"-"""“"”f‘"‘"*--'.m-u_u-__
e —— <. _‘-.,_,,.-,.-g-ﬂ

i DH-1
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SS.

56.

57.

BT DL : 360 + 12 4 4 x 3
RU!\’;‘;
(A)
(C)
K,GRagId, G, A a9 r‘« A, R @
i d, R, G @ wier &, 4 7 8 P17 qE
B’ ?

360+ 12+ 4 x 3
(B)
(D)

15

42

102
106

- e L an i
K is older than G, G is older th® liﬂ‘* A(‘f
younger than R, R is young® SHIL RO,
% =2 : est 7

then who among them is young
(A) R B) G
€ A (D) K

TH TAHR Y] F i aaré 6 @Tﬁ
wterd 4 A ok Srard 1 At 14 T < 1
o I @ e w1 @ O T E
6 At x 1 A} g el <) Ferh A T H
T E | 6ﬂtﬁx4ﬁﬁmaﬁam
& 1 3 11 7y § | s (6 T GO A
3T @) 1 AW g A 6 T A,
(4 Bt ¥ Y 37K @) 1 A G AR 4
s g # ffr a2 |
¥ vt 77 & R o &0 T 8 3K
aTeht Tl T g 1 AE R 7
A cuboid shaped wooden block has 6 cm
length, 4 cm breadth and 1 cm height.
Two faces measuring 4 cm x | cm are
coloured in black. Two faces measuring
6 cm x 1 cm are coloured in red. Two
faces measuring 6 ¢m x 4 c¢m are
coloured in green. The block is divided
into 6 equal cubes of side | cm (from 6
cm side), 4 equal cubes of side | cm
(from 4 cm side).
How many cubes will have
on two sides and rest of the ffg:: :;‘l,?nu;

no colour ?
(A) 10 (B) 4
© 12 (D) 8

N RS ATV MRS P PTLATI TR My [ ey

DH-1

“H.-,..,“
=N -
-
-"Itmiqﬁ-’y - g

S8,

59.

12

LRSI T —
% iy
it o T ey 4 T h R

® Wiz ]

=

frefefas ad a2 §
L. W A 987 & 3 gy
2. WM T 652 93wy
3. e 3 o 4

B
4. ufeEl 3% sifm

a7a, 7 el o e oy
iy qrEed ﬂmﬁammm’m EWﬁa.a,
A health-conscious individua] g grv: !

remember the hotline numbqhy;:fh
a

recently established nutrit
consultation service. He Temembers

following points: [
stans with 987,

1.  The phone number
2. The phone number ends with 657 l,
either 2, 4 or g

3.  The fourth digit is
n the dios
numbers, Sigit of

and not repeated
4.  The fifth digit is the Pproduct of the -
last digit and the fourth digit
Now, considering these iti the
individual has narrowed down four
potential phone numbers for the nutris
consultation service. Find the suitable
one.
(A) 98724652 (B) 98762652
(C) 98764652 (D) 98748652

Frrferfam e o s R , =58
oTe 91 37 W ey M R, e e i
Y oG 6 A 1 I FE TE
W EHAT R | TR IR G | 2
In the following question, a word b
been given,w?t?llowed by four ofhe
words, one of which cannot be forme
using the letters of the given word. F
that word., :
PERPETUATION
(A) PIPETTE (B) REPUIE
(C) PENANCE (D) RETAR




ict of the
L.

ons, the
m  four
1utrition
suitable

b} 3a%
75 feu

CEID]

. z | ATl
i iy i 2 A1g | 7
T g A LR
. L B Ve 5 | T |-4._ R
¥ WA B [ o 3 fisT 21
r ATAN B
/| 5 }1 | ITHHI

,_r.“ 3 -'rr'l, ”"‘I 1"?"[ I I,_I,'.-I o i p
J i 4 wad H Al TR

+ arfies B9 4

fyeart 1 =4
a4 dl aTresd

(TR |

i “"hr[:' 2 B ard
1‘[4:”, A 2 P
L] 1*1 = H

.-?‘.-411* 3 1.0
eTenn Beer o fagat e

P TR Mgy g 3 oo 7oA 3
BT |

I0ftegrt -
UGy % waq

14371 %) <Rt

I 3fh 11 2 S| Fd 8

Hee f%u-,u [ Sat # I
T ] mr.‘ﬂ” A FEE |
e T 1 s F@ 2 |
In the question below g statement followed
Y wo conclusjons numbered 1 and 11 s
given. You have to assume everything in
the statement 1o be true, then consider the
tWo conclusions together and decide which

of them h')gica]l}' follows 11[:}-L‘J|1LI a

reasonable doubt from the information

given in the statement.

Statement : The interview panel may
select a candidate who neither
possesses the desired qualifications
nor the values and attributes,

Conclusions :

I The inclusion of specialists on the
interview panel does not guarantee
that the selection will be proper,

[I. The interview test has certain

HT8ThR uf
(A )

(B)
(C)
(D)

limitations In  the matter of

selection of candidates,
(A) Both I and II follow.
Only conclusion I follows.
Neither I nor II follows.

D) (),ﬂycon(!'”g"ml “”f“'-s
{

T

62.

63.

= =4 1-.,, M

*I Max ¢
_.-_-',. e q.. fereren el 5 ) 11y i,
afd©
iy <8 the alte Matjye '\nh o
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Name the songs which celebrate the
Ve , divine love of Radha and Krishna and
&E especially popular in Braj.

(A) Kajri (B) Khayal
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Recently, the statue of Tamil poet and

philosopher  Thiruvalluvar been

unveiled at which of the following

countries of the world ?

(A) Hungary (B) France

(C) Switzerland (D) Brazil
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m:? among the following was the Prime
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% Shri Narendra Mo?ipam
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... °hri Manmohan Singh
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